
 

■ 次の値を、整数または根号の中身をできるだけ小さくした形で表しなさい。 

①  √  ８   =  
 

⑪ √  ４５   =  

② √  １２   =   ⑫ √  ４８   =  

③ √  １６   =   ⑬ √  ５０   =  

④ √  ２０   =   ⑭ √  ５４   =  

⑤ √  ２４   =   ⑮ √  ７２   =  

⑥ √  ２５   =   ⑯ √  ７５   =  

⑦ √  ２８   =   ⑰ √  ８１   =  

⑧ √  ３６   =   ⑱ √  ９０   =  

⑨ √  ４０   =   ⑲ √  １００   =  

⑩ √  ４４   =   ⑳ √  １２５   =  
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■ 次の値を、整数または根号の中身をできるだけ小さくした形で表しなさい。 

①  √  ８   = ２√  ２   
 

⑪ √  ４５   = ３√  ５   

② √  １２   = ２√  ３    ⑫ √  ４８   = ４√  ３   

③ √  １６   = ４  ⑬ √  ５０   = ５√  ２   

④ √  ２０   = ２√  ５    ⑭ √  ５４   = ３√  ６   

⑤ √  ２４   = ２√  ６    ⑮ √  ７２   = ６√  ２   

⑥ √  ２５   = ５  ⑯ √  ７５   = ５√  ３   

⑦ √  ２８   = ２√  ７    ⑰ √  ８１   = ９ 

⑧ √  ３６   = ６  ⑱ √  ９０   = ３√  １０   

⑨ √  ４０   = ２√  １０    ⑲ √  １００   = １０ 

⑩ √  ４４   = ２√  １１    ⑳ √  １２５   = ５√  ５   
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